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Interactive Question

* A book is resting on the surface of a table. Consider the
following four forces that arise in this situation

— 1) The force of the earth pulling on the book
— 2) The force of the table pushing on the book
— 3) The force of the book pushing on the table
— 4) The force of the book pulling on the earth

* Which two forces form an “action-reaction” pair which
obey Newton’s third law?

A)1and?2 "CO)1land 4 E)3 and 4
B) 1 and 3 D)2 and 4



Interactive Question

* A book is resting on the surface of a table. Consider the
following four forces that arise in this situation

— 1) The force of the earth pulling on the book
— 2) The force of the table pushing on the book
— 3) The force of the book pushing on the table

— 4) The force of the book pulling on the earth

* The book has zero acceleration. Which pair of forces
excluding the “action-reaction” pairs, must be equal in |
magnitude and opposite in direction?

A) 1 and 2 C)1land4 E) 3 and 4
B) 1 and 3 | D) 2 and 4
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Interactive Question

A 2.0 kg projectile is fired at an angle of 20 degrees.
What is the magnitude of the force on the projectile when
it 1s at the highest position in its trajectory?

A) zero
B)6.7N
C)9.8N
D) 184 N
E) 19.6 N
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A normal force of a book on a
. table is always

A) Perpendicular to the surface of the table
B) Parallel to the surface of the table

C) Equal to the book’s weight

D)A&C

EYB&C
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